Record the correct answer to the following problem on the front page of this exam.

(1) Which one of the following differential equations corresponds to the given slope field?
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(2) Given that y(2) is a solution to the logistics equation ¢ = 5y(4 — y) with y(0) = 2,
* which statement best describes the behavior of this solution?
A) y(t) decreases to ; as t — oo.
| B) y(t) increases to 1 as t — c0. ‘
C) y(t) decreases to —co as t — co.
(DY y(t) increases to 4 as t — oo. -

E) y(?) remains constant at 2 as t — co.



Record the correct answer to the following problem on the front page of this exam.

(8) Which of the following infinite series is not a geometric series?
[e o]
- 1
A
n=0
o0 417»

n=0 28"

. n=0 716
. 00
D) Z T
n=0 o

E) They are all geometric series.

B)

(4) Which of the following is the integrating factor for Y +2zy = 727
A) #? '
B) In(2?%)
il

E) The equation does not have an integrating factor since it is ot linear.



Record the correct answer to the following problem on the front page of this exam.

(5) Find the sum of the telescoping series
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C) The series has no sum since it diverges.

D) The series convetges but the sum can’t be determined.
E)1

(6) What is the radius of convergence for the power series
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Free Response Questions: Show your work!

(7)  Solve the 1° order linear initial value problem

zy — 3y = z°
with y(1) = 2. o
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Free Response Questions: Show your work!

(8) Given the alternating series
(D= ) (1)
n=0 . n=0 n+l

(a) Determine if the series converges absolutely, converges conditionally, or diverges.
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(b) Given the fact that |S— S| < a(v+1), where Sy is the N** partial sum of S, what
is the smallest N such that |S — Sy| < 10727 . Y
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Free Response Questions: Show your work!

(9)  Use the ratio test to determine if the series

= nl(2m)
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converges or not.

| |
joa™on)!
e

@Rt { i L 7. , "
[ )™ — = o 7+ Zj‘v; 91 7
/‘n"?’m G f ’ |
5
A’ - 2 /l/ ~ 2
) . Jm
~ Jw </717£[ .2 - Z%,?é} 7+ ' '
N —

e «L'/‘& J—&S + . ﬂ// 1/*@/%'
b > g pres
9 o -
[ [ ‘an



Free Response Questlons Show your work!

(10) Use the mtegral test and the comparison test to decide whether
e
n=0 ‘

converges or not. (Hmt ne™™ < n2e*)’
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Free Response Questions: Show your work!

(o] oo
(11) Use the limit comparison test with the two series Z sin(1/n) and Z % to determine

n=1 n=1

if Z sin(1/n) converges, diverges, or state that the test is inconclusive.
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